\DORTRONICS sYSTEMS.INC.

1668 5AG HARBOR TRE. SAG HARBOR MY 11963 Tel £31-725-0505 + 800-306-0137 Fx 631-726-8148

MOUNTING INSTRUCTIONS: 1107xD Series Surface Mounted Electro-Magnetic
Lock Devices for Out Swinging Doors
READ THOROUGHLY BEFORE INSTALLING REV#0001A

Note: For in-swing (hinge side) door mounting the TJ bracket and hardware kit is required. Refer to Mounting
Instructions for TJ1107.

IMPORTANT: Always handle electro-magnets and armatures carefully. The mating surfaces have been carefully
manufactured to provide maximum holding power. Mating surface damage can significantly reduce holding power.

Before starting, make s ure t he c orrect drill template is available f or the t ype of installation planned. Door swing and
construction, d oor frame mat erial an d c onfiguration m ust be co nsidered before d eciding o n th e proper mo unting kit and
method. See the Application Bulletins below for diagrams of typical door configurations and part numb ers for spacers, shims
and mounting brackets required for each type of installation.

The 1107xD Series Electro-magnet mounts firmly and rigidly to the underside of the header on the stop side of the door, while
the armature mounts to th e face of the door with special hardware that allows enough movement so that the armature can
align itself to the magnet face for maximum effectiveness even if it is not perfectly parallel and/or square.

A 2-1/8” wide flat surface is required to mount the 1107xD series magnet (see Figure 1).

For installations involving drilling and tapping of hollow metal door frames, the material thickness should be at least 1/8”. Sheet
metal screws may be used for wood frames and cl ad frames. For thinly clad d oors or wooden doors without sufficie nt solid
backing, a reinforcing plate may be required. See Figure 3.

STEP 1) MARK AND DRILL JAMB HEADER & INSTALL THE MAGNET MOUNTING PLATE

Itis al ways a good idea to h old the com plete assembly in place

~ JAMB HEADER ] before drilling to mak e sure the placement does not interfere with
' ~ #10 PAN HEAD SCREW ‘ door operators or coordinators. Magnetic locks should be mounted
a mfffof%f!g%ﬁg“.éf_ﬂf as close to the latch side of the door as is practical for m aximum
/| ARMATURE leverage.
m.l e Use the s upplied tem plate t o mark the door a nd th e j amb for
= 7 drilling. Depending on the ma terial, size the drill bit for either #1 0
T Sheet Metal screws or for tapping 10-32 machine screws. Do not
prep jamb for the (2) # 10 locking screws at this time
ARMATURE Use star washers (included) with the scre ws to prevent | oosening
CENTERLINE over time. T he four mounti ng screws s eat i n the slotted pocket
holes of the mounti ng plate (Figure 2). Inst all the scr ews, but do
1 HS{I’;)L(;JRW not tighten ful ly to all ow for adjustme nt after the armature has
MAGNET - 1, ' been mounted to ensure proper alignment. If a standard filler plate
' 2§ - e is used (Figure D Page 6), the mounting plate should be attached
; directly to the filler plate using the pre-tapped holes, and clearance
TYPICAL JAMB MOUN Flgure 1| o o witing. 9 e presapp
1/4-20 THREADED FOR CAP SCREW (2) #10 LOCKING SCREWS
MOUNTING SCREWS (4)

C{ @ MOUNTING PLATE % O

Figure 2

\ WIRE PASSAGE

Page | 1 REV#0001A


john
Rectangle

john
Rectangle


\DORTRONICS sYSTEMS.INC.

1668 5AG HARBOR TRE. SAG HARBOR MY 11963 Tel £31-725-0505 + 800-306-0137 Fx 631-726-8148

STEP 2) PREPARE THE ARMATURE

Insert the t wo Roll Pin pins into th e 3/16™ diameter blind holes. T he pins act as g uides th at al low the armat ure enough
movement to conform to the magnet face but prevent it from rotating. T ap the pins gently until they are firmly seated being
extremely careful not to mar the face of the armature. See Figure 3 below.

Figure 3
THRU BOLT MOUNT 8 REINFORCED - TAPPED (5/16-18) MOUNT

EXTERIOR SEXNUT, +|
\ .

wd I

£ Wil

F T

| |<7 ENLARGE EXTERIOR HOLE TO%"
- EXTERIOR

o e r

EXTERIOR

—

7] 114" MINIMUM
REINFORCING

S

N
}\\\\\‘

!

yl
Vi

e DRILL DOOR f/4'DIA. 112" DEEP 7.
T 4 FOR ROLL PIN GUIDE (2) 3 Y
1 /

DRILL THRU DOOR, 11/32"

il

i)
SRR A AN

e
P
W

p FOR SHOULDER BOLT =/
N (B3] (SPRINGPIN) /  boor _L 7
=
1[ = ﬂ ' 4
"3%’ 5
u d = ARMATURE et 7
3 EN J——
END SECTION VIEW 13 SHOULDER BOLT 4 TOP SECTION VIEW END SECTION VIEW |R 17

Insert one spring washer on 5/16-18 shoulder screw and then insert screw through armature. Add three conical spring washers
over shoulder and flat stop washer. See Figure 4 below or refer to the diagram enclosed in armature kit.

STEP 3) ARMATURE MOUNTING
THRU BOLT MOUNTING IN HOLLOW METAL DOOR

Dimensions shown are for standard 1-3/4"thick doors. See Parts for Non-standard Applications below for hardware options
and part numbers.

Drill 11/32 hole through door for the sex nut and shoulder bolt assembly. The hole on the exterior side of the door only must
be enlarged to 1/2” to accommodate the sex nut. See Figure 3.

Drill two 1/4” clearance holes for the roll pins. For solid core do ors, the holes should be 1/2” deep. Important: the pins must
move freely and not bind. Enlarge the holes if needed to ensure that the armature is free to mate squarely with the magnet.

Insert shoulder screw/armature assembly through face of door, being sure that spring washers remain over shoulder, and hold

firmly against door by pushing directly on head of screw. Insert sex nut from opposite face and assemble. When armature is
floating freely, tighten 5/16-18-shoulder screw fully and securely.

STOP WASHER
Figure 4

SPRING WASHER
SHOULDER BOLT
1100762

ARMATURE
SPRING WASHERS - NOTE ORIENTATION

MACHINE SCREW MOUNTING,

The door mus t be pro perly reinforced to 1/4” min imum thi ckness and structured t o ha ndle the | oad. Drill and tap thru
reinforcing for 5/16-18 machine screw. Insert shoulder screw/armature assembly, being sure that spring washers remain over
shoulder and flat washer is between shoulder and face of door. When armature is floating fre ely, tighten 5/1 6-18-shoulder
screw fully and securely with 5-32 Allen wrench.

Page | 2 REV#0001A



\DORTRONICS sYSTEMS.INC.

1668 5AG HARBOR TRE. SAG HARBOR MY 11963 Tel £31-725-0505 + 800-306-0137 Fx 631-726-8148
THRU BOLT MOUNTING IN SOLID CORE WOOD DOOR

Drill 11/32” hole through the door for t he shoulder bolt and then enlarge the opening on the outside of the d oor to 1/2” to
accommodate the sex nut (F igure 4). Insert shoulder screw/armature as sembly through face of door, being sure th at spring
washers remain over shoulder, and hold firmly against door by pushing directly on head of screw. Insert sex nut from opposite
face and assemble. When armature is floating freely, tighten 5/16-18-shoulder screw fully and securely with 5-32 Allen wrench

;STEP 4) LOCK & ARMATURE ALIGNMENT

o i weoner_ || Jossneh [ /
CENTERLINE CENTERLINE ARMATURE CENTERLINE I l i

CENTERLINE -

Figure 5

Make all electrical connections per figure 6 below. Attach the electro-magnet to the mounting plate using the (2) 1/4“cap
screws and split washers, do not over tighten the cap screws they will need to be removed for final adjustment.

With the el ectro-magnet energized and the armature fully engaged, position the Lock so that the door is snu g against stops
mark the p osition of the lock mounting plate; thenTurn the system off. Remove the (2) 1/4“cap screws, remove the electro-
magnet and fully tighten the (4) screws that hold the lock mounting plate to the header.

Using the (2) 3/16” dia. holes in the mounting plate as a physical template prepare the frame for the (2) locking screws. Drill
.159 dia. Holes (No. 21 drill) and tap frame for No. 10-32 machine screws, or drill two 11/64” dia. in the frame for No. 10 sheet
metal screws. Secure mounting plate with #10 screws and lock washers. The use of the # 10 locking screws is important.
They provide resistance to shear and rotation, and assure that maximum holding force is developed.

Re-install the electro-magnet using the 1/4” cap screws and check installation and alignment of armature and electro-magnet
by opening and clos ing door while turning system on and off. Armature mounting surface must be in full ¢ ontact with top and
bottom rails of electro-magnet

ELECTRICAL HOOKUP

The 1107 electro-magnetic lock should be connected to a Class 2 power supply. Leads are connected in series for 24
volt operation (as shipped from the factory) or connected in parallel for 12 volt operation. For 12 volt operation, cut the gray
wire to make 2 equal lengths, strip back the insulation 3/8” on each lead and connect each gray wire end to the closer blue
wire end — see Figure 6 below. Note: For 12 VDC (parallel coils) the gray wire must be connected to the adjacent blue
wire or the magnetic bond will be significantly reduced.

If the Door Position Switch option is installed, connect the black 22 AWG wire to the common connection of the access control
input for monitoring door status. Then connect either the red wire (for systems requiring normally closed contacts) or the white
wire (for s ystems requiring normally open contacts). Refer to the device manual for details. Typically, Dortronics door control
systems look for closed contacts to indicate that the door is secure (closed).

CAP SCREW
L-MOUNTING BRACKET
= DPS ‘\

e 24 VDC
BLI
COILS
IN SERIES

DPs 22 AWG
100 mA @ 38VDG MAX

/

r————
e o

-

o —

CURRENT DRAW: CONNECT TO CLASS Il POWER SUPPLY

1107 MAGNET MAGNET POWER - 18 AWG

245 mA @ 24VDC :

480 MA @ 12VDC s S ORCD> Figure 6
DPS SWITCH 100mA @38VDC

Page | 3

REV#0001A




\DORTRONICS sYSTEMS.INC.

1668 5AG HARBOR TRE. SAG HARBOR MY 11963 Tel £31-725-0505 + 800-306-0137 Fx 631-726-8148

1 1 7 D ! #10 PAN HEAD SCREWS (4)
X _ #10 TOOTH WASHERS (4)

HOUSING
1106111-SCN

MAGNET ASSEMBLY

LOCK HEADER MOUNTING
SCREW KIT - 1100701-SC

#10 FLAT HEAD (2)
HOUSING SCREWS (8)

HEADER MOUNTING
PLATE - 1106103-5CN
WIRE EXIT

DPS
SWITCH

POWER, DPS LEADS

MOUNTING PLATE
1106102-5CN

END PLATE (2)
1100102-SCN
HEX KEY PACK
BOLT 1100749-SCN
BELLEVILLE SPRING N
WASHERS (4) r 1
ARMATURE MOUNTING i :
KIT - 1100703 : !
| I
LOCATING SPRING INCLUDED IN LOCK HEADER i '
PINS (2) 1106050 SCREWKIT - 1100701-SC / | 3 i
ARMATURE - 1106054 CAP SCREWS (2) 3 : !
SPUTWASHER (2) — —  t——-%_ ]
] 1/4" MOUNTING PLATE §
\ \
s 1/4 - 20 CAP SCREW s
i #10 PAN HEAD N
\ SCREW ARMATURE s
JAMB HEADER E
AT \
77T~ STOP WASHER WITH
AL \}\STOP g’ ; BELLEVILLE SPRING WASHERS
Pl g g
g 2 SEX NUT AND
3 ? SHOULDER BOLT ASSEMBLY
lu - o 7
24 n r -ﬂ == E ; l
2 L. é ?
b % LOCK HEADER MOUNTING i i
g SCREv;.r KIT-1100701-SC EhEdeded

s

I A—
—=
r
-
=3
1
|

NCLUDES: | I} g g
#10 PAN HEAD SCREWS (4) -
#10 TOOTH WASHERS (4)
‘ #10 FLAT HEAD (2)

Z
/
/

\ 1/4-20

MAGNET CAP SCREW

ASSEMBLY CAP SCREWS (2)

SPLIT WASHER (2)

lll 3 "
g I 17

Figure 7

REV#0001A




\DORTRONICS sYSTEMS.INC.

1668 5AG HARBOR TRE. SAG HARBOR MY 11963 Tel £31-725-0505 + 800-306-0137 Fx 631-726-8148

BEFORE INSTALLING, READ
oS OPW\ th h  DOOR MOUNTING INSTRUCTIONS THOROUGHLY!
" "
il 5 i} T
H ' ' . RIGHT HAND DOOR
| ! ARMATURE | | 1‘ i} g (OR LEFT HAND REVERSE) DOOR POSITION SWITCH (DPS) OPTION
JAMB —TiRT T I ACTUATING MAGNET
- ‘h"n I%‘ S i e ¢ e e . e e = e ‘:@E_n_‘") l HOUSING COVER
LT ?‘ = \ DRILL AND TAP #10-32 (4)
i 1}-_ E’;&%; Wiz BT IT\ DOOR POSITION SWITCH
- 14 !
e I~ DRILL AND TAP 10-32 AFTER (o8 CITALR LOMK vk O GE W EHD)
T omeeraNTERINE —] ! FINAL ADJUSTMENT TO PREVENT | (ot e e
2 1 MOVEMENT DURING USE (2). Coeon CLOSED & SW ACTUATED
8%" BLACK COMMON
WHITE NO. HELD CLOSED
SEE MOUNTING INSTRUCTIONS FOR RED WE HELD OPEN
DRILLING AND TAPPING FOR MACHINE DRILL DOOR 1/4" DIA. X 3/4 DEEP (2) SPEC: SPOT, .1 AMP @ 38 VOLTS

SCREW OR THRU-BOLT MOUNTING

{ ||=|| stor |
_____________ ] DOOR
| x“ % . g
r---t1§" e it - | ]
Figure 8 | sk max 2

PARTS FOR NON-STANDARD APPLICATIONS

Match hardware to door thickness.
Use spacers as required for proper alignment between the face of the magnet and the armature.

SEX NUT SIZES FOR NON-STANDARD DOORS WIDE MOUNTING PLATES FOR HIGH PROFILE HEADERS
‘ Nfat I e I
‘f | T
= == ®
S— ° o o O ol
R T T -
~ THICKNESS NUMBER
SECTION A-A 11/4 110075025 | 1.1170 HHR N PARTS 1183070 38" 105 1
13/8 1100751 1.2950 T - —TTT
STANDARD 13/4 1100752 1.6700 N usrorw 2 ISR
2 1100753 19200
oo e 21/4 1100754 2.1500 |i i ] |r HES MW S 1| I' : { i il
212 1100755 2.3950

Page | 5 REV#0001A



Application Bulletin
1107xD SERIES OUT-SWING DOORS
A B C
HEADER
| | HEADER
Ii HEADER
] 1,
. NYIY l
o 4 ARMATURE ARMATURE ¢ 2% \ S 2" MIN
1 ] CENTERLINE CENTERLINE 2
|
DOOR
] T
1 DOOR 31 6 poor
—23 | l— 23— 8
16 L~ 16 L~ —~——
ON FULL WIDTH STOP WITH IN CASED OPENING WITH IN CASED OPENING WITH
SURFACE MOUNTED ARMATURE SURFACE MOUNTED ARMATURE POCKETED ARMATURE
D D-w HEADER F §— HEADER
HEADER LIp STOP
1 |—AL, _1'_ REVEAL
118X-W FILLER PLATE ‘
' [
1, 1,
T ks L e |
' 4 angrue I\ o v (W0 A [ apaure f\ o
CENTERLINE ' CENTERLINE 21 T CENTERLINE
. WIDE STYLE FILLER PLATE:
7P R s ey DOOR FILLER PLATE: | = DOOR REVEAL  MODEL | DOOR
118406, 12" 1 1183-07-EDR...3/8" [T 5 2" 118406
118506.....5/8"  1— 2% —— 1184-07-EDR...1/2" 2% 17/8-2"....1185-06
16 — 1185-07-EDR....5/8"
1180 SERIES FILLER PLATE FOR 1180-W SERIES WIDE FILLER 1180 SERIES FILLER PLATE AS
FRAME WITH NARROW STOP PLATE FOR FRAME WITH LIP STOP HEADER EXTENSION BLOCK
H | ! J —2
— WIRE TROUGH T | WIRE TROUGH "— WIRE TROUGH
| HEADER e HEADER e
" i 2 )
8 HEADER
: .
' f
% ! ARMATURE |\ o o X anarore I\ o & i anarore J\ o
CENTERLINE CENTERUINE T CENTERLINE
DOOR
— }— 7 — DOOR — DOOR
PR e o
16 L 16 l— 2@" _
1191-06 ANGLE BRACKET 1192-06 ANGLE BRACKET 1193-06 ANGLE BRACKET
K L
| | | | , MOUNTING PLATE HEADER
3, 3.
HEADER I _ Hever | - 16 s0p
] 1,
1'REF // '
1 4
2 |7 ARMATURE | ¢
- CENTERLINE - o T ARMATURE
g [ 1198150 g || 110875 3 | — [ CENTERLINE
a g P
l— 1%" —] 3 |\ aaseer | 1%.. — J 3 \— GASKET 1 DOOR
9, B 9, 8 B — 17—
g 1 2§ — — 3 3,
16 —] |._7 REF 16 3 REF % R
ARMATURE ATTACHED TO 1198 SERIES "U" BRACKET ON ALL-GLASS DOOR
1115050 SURFACE MOUNT
(FILLER PLATE OR ANGLE BRACKET AS REQUIRED) ARMATURE PLATE
DORTRON ICS 1668 SAG HARBOR TPKE., SAG HARBOR, NY 11963
TEL: (631) 725 0505 FAX: (631) 7258148 TOLL FREE: 800 906 0137
SYSTEMS, INC. WEBSITE: DORTRONICS.COM  EMAIL: SALES@DORTRONICS.COM

AB1107-OUTSWING-12-16




